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QUESTION 1

Click the Exhibit button. 

In the cube shown in the exhibit, you need to show only the five most expensive products. The list should change
dynamically with the selection of the budget version. 

How would you achieve this? 

A. Create a filtered subsetfor products with the option TopSum. 

B. Create a view filter with the option TopSum. 

C. Create a filtered subset for products with the option TopCount, 
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D. Create a view filter with the option TopCount. 

Correct Answer: D 

 

QUESTION 2

A company usesExcel workbooks to access IBM Cognos TM1 data over a wide area network. The company needs to
improve the performance of their Excel workbooks which contain multiple slices from multiple TM1 cubes. 

Which two changes will improve performance? (Choose two.) 

A. Convert all DBR() functions to DBRW() functions. 

B. Make all DBRW() functions reference a single VIEW function. 

C. Convert all DBRA() functions to DBRW() functions. 

D. Convert all DBRW() functions to DBR() functions. 

Correct Answer: AC 

 

QUESTION 3

A user is a member of four security groups: A, B,C, and D. For the Budgetcube, group A has WRITE access, group B
has READ access, group C has RESERVE access, and group D has a NONE access level. 

Which access level will the user have to the Budget cube? 

A. WRITE 

B. READ 

C. RESERVED 

D. NONE 

Correct Answer: C 

 

QUESTION 4

Which three statements are correct about aliases? (Choose three.) 

A. Aliases must be unique within the dimension. 

B. Subset (user defined consolidation) cannot be the same name as an alias. 

C. Aliases can be used for alternative languages. 

D. There can only be one aliasper dimension. 

E. Aliases must only contain non-numeric string characters. 
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Correct Answer: ABC 

 

QUESTION 5

Auser would like to create a view showing the top 10 sales by region. Which type of subset would the user use to
accomplish this? 

A. Expression Base Subset 

B. Static Subset 

C. User Defined Subset 

D. Filter-based Dynamic Subset 

Correct Answer: D 
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